

# A gradient estimate in the Calabi–Yau theorem

Zbigniew Błocki

Received: 11 May 2008 / Revised: 20 September 2008 / Published online: 18 November 2008  
© Springer-Verlag 2008

**Abstract** We prove a  $C^1$ -estimate for the complex Monge–Ampère equation on a compact Kähler manifold directly from the  $C^0$ -estimate, without using a  $C^2$ -estimate. This was earlier done only under additional assumption of non-negative bisectional curvature.

**Mathematics Subject Classification (2000)** 32W20 · 32Q25

## 0 Introduction

Let  $M$  be a compact Kähler manifold of complex dimension  $n \geq 2$  with Kähler form  $\omega$ . We consider the complex Monge–Ampère equation on  $M$

$$(\omega + dd^c \varphi)^n = f \omega^n, \quad (0.1)$$

we look for solutions satisfying

$$\omega + dd^c \varphi > 0. \quad (0.2)$$

Our main result is the following a priori gradient estimate:

**Theorem 1** *Let  $\varphi \in C^3(M)$  be a solution of (0.1) satisfying (0.2). Then*

$$|\nabla \varphi| \leq C_1,$$

---

Partially supported by the projects N N201 3679 33 and 189/6 PR EU/2007/7 of the Polish Ministry of Science and Higher Education.

---

Z. Błocki (✉)  
Institute of Mathematics, Jagiellonian University, Łojasiweicza 6, 30-348 Kraków, Poland  
e-mail: Zbigniew.Blocki@im.uj.edu.pl; umblocki@cyf-kr.edu.pl

where  $C_1$  is a positive constant depending only on upper bounds for  $\text{osc } \varphi$ ,  $f$ ,  $|\nabla(f^{1/n})|$ , on a lower (negative) bound for the bisectional curvature of  $M$ , and on  $n$ .

Here  $\text{osc } \varphi = \sup_M \varphi - \inf_M \varphi$  and by a lower bound for the bisectional curvature we mean a constant  $-B$ , where  $B \geq 0$  is such that

$$\sigma(X, Y) \geq -B|X|^2|Y|^2, \quad X, Y \in TM, \quad (0.3)$$

( $\sigma(X, Y) = R(X, Y, Y, X) + R(X, JY, JY, X)$  is the bisectional curvature).

Theorem 1 was proved in [2] under the additional assumption  $B = 0$ . It is new even in the non-degenerate case (when one assumes in addition control of  $f$  from below by a positive constant).

One of the main steps in the proof of the Calabi–Yau theorem is a  $C^2$ -estimate proved independently by Aubin [1] and Yau [17], which does not make use of any  $C^1$ -estimate (and therefore a  $C^1$ -estimate is not needed when solving this Monge–Ampère equation). This is a very rare situation in the theory of fully nonlinear elliptic equations of second order. In fact, the main motivation behind Theorem 1 is an upcoming work on complex Hessian equations on compact Kähler manifolds where this Aubin–Yau phenomenon, at least apparently, does not appear, and where the method we use here to prove Theorem 1 will be applied to actually solve an equation.

As observed by Duong Phong, our gradient estimate may be also used to provide an alternative proof of the  $C^1$ -estimates obtained by blow-up arguments in Chen’s proof of the existence of  $C^{1,1}$  geodesic segments in the space of Kähler metrics [7].

By the way, we also revisit the aforementioned  $C^2$ -estimate and its generalization to the degenerate case from [2] (which was influenced by P. Guan’s work [8] on the degenerate real Monge–Ampère equation, see also [4, 9]). We will prove the following, slightly more precise result:

**Theorem 2** For  $\varphi \in C^4(M)$  satisfying (0.1) and (0.2) one has

$$\Delta\varphi \leq C_2,$$

where  $C_2$  is a constant depending only on upper bounds for  $\text{osc } \varphi$ ,  $f$  and the scalar curvature of  $M$ , on lower bounds for  $f^{1/(n-1)} \Delta(\log f)$  and the bisectional curvature of  $M$ , and on  $n$ .

Surprisingly, the proof of Theorem 1, although the method and main ideas are similar, is more complicated than that of Theorem 2. Similarly as in [2], and unlike [17], we do not use covariant derivatives in our proofs. The key however is a local holomorphic change of variables giving (1.2)–(1.4) below.

One can check that the assumptions on  $f$  in Theorem 2 are satisfied for example when  $\|f^{1/(n-1)}\|_{C^2(M)}$  is under control.

Dependence on  $M$  in Theorems 1 and 2 is quite explicit in terms of its geometry. One of the main ingredients of the fundamental work of Yau [17] was an a priori estimate for  $\text{osc } \varphi$ . Together with subsequent simplifications due to Kazdan, Aubin

and Bourguignon, one can show that the following result holds (see e.g. [15] or [6]): if  $\varphi$  satisfies (0.1) and (0.2) then

$$\text{osc } \varphi \leq C_0,$$

where  $C_0 > 0$  depends on  $M$  and  $\sup_M f$ . However, the dependence on  $M$  here is not so geometric as in Theorems 1 and 2.

The technique used by Yau to estimate  $\text{osc } \varphi$  was Moser’s iteration. Kołodziej [10] gave another proof using pluripotential theory. In fact, he improved this estimate as follows: for any  $p > 1$  the constant  $C_0$  depends on  $M$ ,  $\|f\|_{L^p(M)}$  and  $p$  (see also [5]). He also showed that for any  $p > 1$ ,  $f \in L^p(M)$ ,  $f \geq 0$ , satisfying the necessary condition

$$\int_M f \omega^n = \int_M \omega^n,$$

there exists  $\varphi \in C(M)$  such that (in the weak sense)

$$\omega + dd^c \varphi \geq 0, \quad (\omega + dd^c \varphi)^n = f \omega^n, \quad \sup_M \varphi = 0. \tag{0.4}$$

In [11] it was shown that the solution of (0.4) is unique (see also [3] for a more general uniqueness result with much simpler proof).

The Calabi–Yau theorem may be now viewed as the following regularity of (0.4):

$$f \in C^\infty, \quad f > 0 \Rightarrow \varphi \in C^\infty.$$

Theorem 2 easily gives (see [2])

$$f^{1/(n-1)} \in C^{1,1} \Rightarrow \Delta \varphi \in L^\infty \Rightarrow \varphi \in C^{1,\alpha}, \quad \alpha < 1.$$

Pliś [13], modifying an example of Wang [16], showed that  $1/(n - 1)$  here, and thus also in Theorem 2, is an optimal exponent. From Theorem 1 we deduce in turn

$$f^{1/n} \in C^{0,1} \Rightarrow \varphi \in C^{0,1}.$$

Pliś [14] noticed that from [13] it follows that the optimal exponent here is not bigger than  $1/(n - 2)$ . Recently Kołodziej [12] showed the following Hölder regularity:

$$p > 1, \quad f \in L^p \Rightarrow \varphi \in C^{0,q} \text{ for some } q > 0.$$

Here  $q$  depends on  $M$ ,  $p$ , and  $\|f\|_{L^p(M)}$ .

The author would like to thank Duong Phong for his interest in this topic, Sławomir Dinew for very careful reading, and Szymon Pliś for finding an error in the previous version of the paper.

**1 Proof of Theorem 1**

Without loss of generality we may assume that  $\inf_M \varphi = 0$ , then  $\sup_M \varphi = \text{osc } \varphi =: C_0$ . Set

$$\beta := |\nabla\varphi|^2$$

and

$$\alpha := \log \beta - \gamma \circ \varphi,$$

where (smooth)  $\gamma : [0, C_0] \rightarrow \mathbb{R}$  with  $\gamma' \geq 0$  will be determined later. Since  $M$  is compact,  $\alpha$  attains maximum at some  $O \in M$ . Then

$$\log \beta \leq \log \beta(O) + \gamma \circ \varphi - \gamma(\varphi(O)), \tag{1.1}$$

so it is enough to estimate  $\beta(O)$  (provided that  $\gamma$  is under control).

Near  $O$  we have  $\omega = dd^c g$  for some smooth strongly plurisubharmonic  $g$ . By (0.2) the function  $u := \varphi + g$  is strongly plurisubharmonic. We claim that there exists a holomorphic chart near  $O$  where

$$g_{j\bar{k}}(O) = \delta_{jk}, \tag{1.2}$$

$$g_{j\bar{k}l}(O) = 0, \tag{1.3}$$

$$(u_{p\bar{q}}(O)) \text{ is diagonal,} \tag{1.4}$$

where lower indices denote partial differentiation:  $v_j = \partial v / \partial z^j$ ,  $v_{\bar{j}} = \partial v / \partial \bar{z}^j \dots$ . After a linear change of variables we can get (1.2) and (1.4). We then apply another change of variables of the form  $F = (F^1, \dots, F^n)$ , where

$$F^l(z) = z^l + \frac{1}{2} a^l_{jk} z^j z^k$$

and  $a^l_{jk} = a^l_{kj}$ , which changes neither (1.2) nor (1.4). For  $\tilde{g} := g \circ F$  we have

$$\tilde{g}_p = g_l \circ F F^l_p, \quad \tilde{g}_{p\bar{q}} = g_{l\bar{k}} \circ F F^l_p \overline{F^k_q},$$

and

$$\tilde{g}_{p\bar{q}m} = g_{l\bar{k}} \circ F F^l_{pm} \overline{F^k_q} + g_{l\bar{k}s} \circ F F^l_p \overline{F^k_q} F^s_m.$$

Since  $F^l_p(O) = \delta_{lp}$ ,  $F^l_{pm}(O) = a^l_{pm}$ , we have

$$\tilde{g}_{p\bar{q}m}(O) = a^q_{pm} + g_{p\bar{q}m}(O).$$

Therefore, choosing  $a^q_{pm} := -g_{p\bar{q}m}(O)$ , we will also get (1.3).

We have  $\beta = g^{j\bar{k}}\varphi_j\varphi_{\bar{k}}$ , where  $(g^{j\bar{k}})$  is the inverse transposed of  $(g_{j\bar{k}})$ , that is

$$g_{j\bar{k}}g^{j\bar{l}} = \delta_{kl}. \tag{1.5}$$

We get

$$\beta_p = (g^{j\bar{k}})_p\varphi_j\varphi_{\bar{k}} + g^{j\bar{k}}\varphi_{jp}\varphi_{\bar{k}} + g^{j\bar{k}}\varphi_j\varphi_{p\bar{k}}.$$

Since

$$(g^{j\bar{k}})_p = -g^{j\bar{i}}g^{s\bar{k}}g_{s\bar{i}p} \tag{1.6}$$

(which we obtain differentiating (1.5)), from (1.2) to (1.4) at  $O$  we infer

$$\beta = \sum_j |\varphi_j|^2, \tag{1.7}$$

$$\beta_p = \sum_j \varphi_{jp}\varphi_{\bar{j}} + \varphi_p(u_{p\bar{p}} - 1), \tag{1.7}$$

$$\beta_{p\bar{p}} = (g^{j\bar{k}})_{p\bar{p}}\varphi_j\varphi_{\bar{k}} + 2\text{Re} \sum_j u_{p\bar{p}j}\varphi_{\bar{j}} + \sum_j |\varphi_{jp}|^2 + \varphi_{p\bar{p}}^2. \tag{1.8}$$

At  $O$  we have

$$(g^{j\bar{k}})_{p\bar{p}} = -g_{j\bar{k}p\bar{p}} = R_{j\bar{k}p\bar{p}}, \tag{1.9}$$

provided that we normalize the definition of  $d^c$  to

$$d^c := \frac{1}{4}i(\bar{\partial} - \partial), \tag{1.10}$$

so that  $dd^c = i\partial\bar{\partial}/2$  and

$$\omega = \frac{i}{2}g_{j\bar{k}}dz^j \wedge d\bar{z}^{\bar{k}}.$$

Note that (0.3) is pointwise equivalent to

$$R_{j\bar{k}p\bar{q}}a^j\bar{a}^{\bar{k}}b^p\bar{b}^{\bar{q}} \geq -B|a|^2|b|^2, \quad a, b \in \mathbb{C}^n. \tag{1.11}$$

On the other hand

$$\alpha_p = \frac{\beta_p}{\beta} - \gamma' \circ \varphi \varphi_p.$$

Since  $\alpha_p(O) = 0$ , at  $O$  we have

$$\begin{aligned} \alpha_{p\bar{p}} &= \frac{\beta_{p\bar{p}}}{\beta} - \frac{|\beta_p|^2}{\beta^2} - \gamma''|\varphi_p|^2 - \gamma'\varphi_{p\bar{p}} \\ &= \frac{\beta_{p\bar{p}}}{\beta} - [(\gamma')^2 + \gamma'']|\varphi_p|^2 - \gamma'\varphi_{p\bar{p}}, \end{aligned} \tag{1.12}$$

where with some abuse of notation we denote  $\gamma' = \gamma'(\varphi(O))$ ,  $\gamma'' = \gamma''(\varphi(O))$ .

Near  $O$  we have

$$\det(u_{p\bar{q}}) = f \det(g_{p\bar{q}}) =: \tilde{f}.$$

Differentiating both sides and dividing by  $\tilde{f}$  we get

$$u^{p\bar{q}}u_{p\bar{q}j} = (\log \tilde{f})_j. \tag{1.13}$$

By (1.2)–(1.4) this means at  $O$

$$\sum_p \frac{u_{p\bar{p}j}}{u_{p\bar{p}}} = (\log f)_j.$$

Combining this with (1.8), (1.9), (1.11), (1.12), and the fact that  $\alpha$  has maximum at  $O$ , we obtain

$$\begin{aligned} 0 \geq \sum_p \frac{\alpha_{p\bar{p}}}{u_{p\bar{p}}} &\geq (\gamma' - B) \sum_p \frac{1}{u_{p\bar{p}}} + \frac{2}{\beta} \operatorname{Re} \sum_j (\log f)_j \varphi_{\bar{j}} + \frac{1}{\beta} \sum_{j,p} \frac{|\varphi_{jp}|^2}{u_{p\bar{p}}} \\ &\quad - [(\gamma')^2 + \gamma''] \sum_p \frac{|\varphi_p|^2}{u_{p\bar{p}}} - n\gamma'. \end{aligned} \tag{1.14}$$

The proof so far was essentially the same as in [2] (except for the way we changed variables). If  $B = 0$  then in order to get rid of  $u_{p\bar{p}}$ 's in (1.14) one could take  $\gamma(t) = 2^{-1} \log(2t + 1)$  (then  $\gamma' \geq (2C_0 + 1)^{-1}$ ,  $-[\gamma'' + (\gamma')^2] \geq (2C_0 + 1)^{-2}$ ), and we could easily estimate  $\beta$ . However, one cannot construct  $\gamma$  with  $\gamma' \geq B$  and  $-[\gamma'' + (\gamma')^2] \geq 0$  if  $B > 1/C_0$ .

To improve the method from [2] we will in addition estimate the term

$$\frac{1}{\beta} \sum_{j,p} \frac{|\varphi_{jp}|^2}{u_{p\bar{p}}}$$

from below. Since  $\alpha_p(O) = 0$ , at  $O$  we have  $\beta_p = \gamma'\beta\varphi_p$ . Using (1.7) this means that (at  $O$ )

$$\sum_j \varphi_{jp}\varphi_{\bar{j}} = (\gamma'\beta + 1 - u_{p\bar{p}})\varphi_p.$$

By the Schwarz inequality

$$\left| \sum_j \varphi_{jp} \varphi_{\bar{j}} \right|^2 \leq \beta \sum_j |\varphi_{jp}|^2$$

and thus (at  $O$ )

$$\begin{aligned} \frac{1}{\beta} \sum_{j,p} \frac{|\varphi_{jp}|^2}{u_{p\bar{p}}} &\geq \frac{1}{\beta^2} \sum_p \frac{(\gamma'\beta + 1 - u_{p\bar{p}})^2 |\varphi_p|^2}{u_{p\bar{p}}} \\ &\geq (\gamma')^2 \sum_p \frac{|\varphi_p|^2}{u_{p\bar{p}}} - 2\gamma' - \frac{2}{\beta}, \end{aligned} \tag{1.15}$$

where we have used the inequality

$$(\gamma'\beta + 1 - u_{p\bar{p}})^2 \geq (\gamma')^2 \beta^2 - 2u_{p\bar{p}} - 2\gamma'\beta u_{p\bar{p}}$$

(and the fact that  $\gamma' \geq 0$ ). Moreover,

$$|\nabla(\log f)| = n \frac{|\nabla(f^{1/n})|}{f^{1/n}} \leq \frac{F_1}{2f^{1/n}},$$

where

$$F_1 := \frac{2}{n} \sup_M |\nabla(f^{1/n})|.$$

Assuming in addition that  $\beta(O) \geq 1$

$$\frac{2}{\beta} \operatorname{Re} \sum_j (\log f)_j \varphi_{\bar{j}} \geq -\frac{2|\nabla(\log f)|}{\sqrt{\beta}} \geq -2|\nabla(\log f)| \geq -\frac{F_1}{f^{1/n}} \geq -F_1 \sum_p \frac{1}{u_{p\bar{p}}}$$

by the inequality between arithmetic and geometric means. Combining this with (1.14) and (1.15)

$$0 \geq (\gamma' - B - F_1) \sum_p \frac{1}{u_{p\bar{p}}} - \gamma'' \sum_p \frac{|\varphi_p|^2}{u_{p\bar{p}}} - (n + 2)\gamma' - 2.$$

This time we can easily find a right  $\gamma$ , for example set

$$\gamma(t) := (B + F_1 + 3)t - \frac{1}{C_0} t^2, \quad 0 \leq t \leq C_0.$$

Then

$$B + F_1 + 1 \leq \gamma' \leq B + F_1 + 3, \quad -\gamma'' = \frac{2}{C_0}.$$

Therefore

$$\sum_p \frac{1}{u_{p\bar{p}}} + \frac{2}{C_0} \sum_p \frac{|\varphi_p|^2}{u_{p\bar{p}}} \leq D := 2 + (n+2)(B + F_1 + 3). \quad (1.16)$$

Thus

$$\frac{1}{u_{p\bar{p}}} \leq D.$$

Combining this with  $u_{1\bar{1}} \dots u_{n\bar{n}} \leq F_0 := \sup_M f$ , we get

$$u_{p\bar{p}} \leq F_0 D^{n-1}.$$

Using (1.16) again

$$|\varphi_p|^2 \leq \frac{C_0 F_0 D^n}{2}$$

and therefore

$$\beta(O) \leq \max\left(1, \frac{nC_0 F_0 D^n}{2}\right).$$

Combining this with (1.1), and since  $\text{osc } \gamma = \gamma(C_0) = C_0(B + F_1 + 2)$ , we get Theorem 1 with

$$C_1^2 = e^{C_0(B+F_1+2)} \max\left(1, \frac{nC_0 F_0}{2} [2 + (n+2)(B + F_1 + 3)]^n\right)$$

(the constants are of course subjected to the normalization given by (1.10)).

## 2 Proof of Theorem 2

By (0.2)

$$\Delta\varphi = g^{j\bar{k}} \varphi_{j\bar{k}} > -n$$

( $\Delta$  denotes the complex Laplacian which is the double of the real one). We keep the previous notation, except that this time we set

$$\alpha := \log(\Delta\varphi + n) - A\varphi,$$



where a constant  $A > 0$  will be determined later. As before, the function  $u = g + \varphi$  is defined near  $O$  where  $\alpha$  attains maximum. We have

$$\begin{aligned} \alpha_p &= \frac{(\Delta u)_p}{\Delta u} - A\varphi_p, \\ \alpha_{p\bar{p}} &= \frac{(\Delta u)_{p\bar{p}}}{\Delta u} - \frac{|(\Delta u)_p|^2}{(\Delta u)^2} + A - Au_{p\bar{p}}. \end{aligned} \tag{2.1}$$

By (1.2)–(1.4), (1.6), (1.9) at  $O$  we will get

$$\begin{aligned} (\Delta u)_p &= \sum_j u_{j\bar{j}p}, \\ (\Delta u)_{p\bar{p}} &= \sum_j R_{j\bar{j}p\bar{p}}u_{j\bar{j}} + \sum_j u_{j\bar{j}p\bar{p}}. \end{aligned} \tag{2.2}$$

Differentiating (1.13) and using (1.6) for  $u$  we obtain

$$u^{p\bar{q}}u_{p\bar{q}j\bar{j}} = (\log \tilde{f})_{j\bar{j}} + u^{p\bar{i}}u^{s\bar{q}}u_{p\bar{q}j}u_{s\bar{i}\bar{j}}.$$

Similarly

$$(\log \tilde{f})_{j\bar{j}} = (\log f)_{j\bar{j}} + g^{p\bar{q}}g_{p\bar{q}j\bar{j}} - g^{p\bar{i}}g^{s\bar{q}}g_{p\bar{q}j}g_{s\bar{i}\bar{j}}.$$

At  $O$  by (1.2)–(1.4) we thus get

$$\begin{aligned} \sum_{j,p} \frac{u_{j\bar{j}p\bar{p}}}{u_{p\bar{p}}} &= \Delta(\log f) - \sum_{j,p} R_{j\bar{j}p\bar{p}} + \sum_{j,p,q} \frac{|u_{p\bar{q}j}|^2}{u_{p\bar{p}}u_{q\bar{q}}} \\ &\geq -\frac{F_2}{f^{1/(n-1)}} - S + \sum_{j,p} \frac{|u_{j\bar{j}p}|^2}{u_{p\bar{p}}u_{j\bar{j}}}, \end{aligned} \tag{2.3}$$

where

$$F_2 := \max \left( 0, -\inf_M \left[ f^{1/(n-1)} \Delta(\log f) \right] \right)$$

and  $S$  denotes an upper bound for the scalar curvature.

By the Schwarz inequality

$$|(\Delta u)_p|^2 = \left| \sum_j u_{j\bar{j}p} \right|^2 \leq \Delta u \sum_j \frac{|u_{j\bar{j}p}|^2}{u_{j\bar{j}}}. \tag{2.4}$$

Combining (2.1)–(2.4) and using the fact that  $\alpha$  has maximum at  $O$ , we get there

$$0 \geq \sum_p \frac{\alpha_{p\bar{p}}}{u_{p\bar{p}}} \geq \frac{1}{\Delta u} \left[ \sum_{j,p} R_{j\bar{j}p\bar{p}} \frac{u_{j\bar{j}}}{u_{p\bar{p}}} - \frac{F_2}{f^{1/(n-1)}} - S \right] + A \sum_p \frac{1}{u_{p\bar{p}}} - nA. \tag{2.5}$$

We also have

$$\sum_{j,p} R_{j\bar{j}p\bar{p}} \frac{u_{j\bar{j}}}{u_{p\bar{p}}} \geq -B \sum_{j,p} \frac{u_{j\bar{j}}}{u_{p\bar{p}}} = -B \Delta u \sum_p \frac{1}{u_{p\bar{p}}}, \tag{2.6}$$

$$\sum_p \frac{1}{u_{p\bar{p}}} \geq (n-1)^{1/(n-1)} (\Delta u/f)^{1/(n-1)} \geq (\Delta u/f)^{1/(n-1)}. \tag{2.7}$$

From (2.5) to (2.7) with  $A := B + 1$  we get

$$\begin{aligned} 0 &\geq (\Delta u)^{n/(n-1)} - n(B+1)f^{1/(n-1)}\Delta u - F_2 - S f^{1/(n-1)} \\ &\geq (\Delta u)^{n/(n-1)} - n(B+1)F_0^{1/(n-1)}\Delta u - F_2 - S F_0^{1/(n-1)}. \end{aligned}$$

Since for  $x, a, b, \varepsilon > 0$

$$x^{1+\varepsilon} - ax - b \leq 0 \Rightarrow x \leq \max\left((2a)^{1/\varepsilon}, (2b)^{1/(1+\varepsilon)}\right),$$

we get

$$\Delta u(O) \leq \max\left([2n(B+1)]^{n-1}F_0, [2(F_2 + S F_0^{1/(n-1)})]^{(n-1)/n}\right).$$

But

$$\Delta\varphi + n \leq e^{\alpha(O)+A\varphi} \leq e^{AC_0} \Delta u(O)$$

and we obtain Theorem 2 with

$$C_2 = e^{C_0(B+1)} \max\left([2n(B+1)]^{n-1}F_0, [2(F_2 + S F_0^{1/(n-1)})]^{(n-1)/n}\right) - n.$$

**References**

1. Aubin, T.: Equations du type de Monge–Ampère sur les variétés Kähleriennes compactes. C. R. Acad. Sci. Paris **283**, 119–121 (1976)
2. Błocki, Z.: Regularity of the degenerate Monge–Ampère equation on compact Kähler manifolds. Math. Z. **244**, 153–161 (2003)
3. Błocki, Z.: Uniqueness and stability for the Monge–Ampère equation on compact Kähler manifolds. Indiana Univ. Math. J. **52**, 1697–1702 (2003)
4. Błocki, Z.: Interior regularity of the degenerate Monge–Ampère equation. Bull. Austral. Math. Soc. **68**, 81–92 (2003)
5. Błocki, Z.: On uniform estimate in Calabi–Yau theorem. Sci. China Ser. A **48**(suppl), 244–247 (2005)

6. Blocki, Z.: The Monge–Ampère equation on compact Kähler manifolds. unpublished lecture notes, course given at Winter School in Complex Analysis, Toulouse (2005). <http://gamma.im.uj.edu.pl/~blocki/publ/>
7. Chen, X.X.: The space of Kähler metrics. *J. Diff. Geom.* **56**, 189–234 (2000)
8. Guan, P.:  $C^2$  a priori estimates for degenerate Monge–Ampère equations. *Duke Math. J.* **86**, 323–346 (1997)
9. Guan, P., Trudinger, N.S., Wang, X.-J.: On the Dirichlet problem for degenerate Monge–Ampère equations. *Acta Math.* **182**, 87–104 (1999)
10. Kołodziej, S.: The complex Monge–Ampère equation. *Acta Math.* **180**, 69–117 (1998)
11. Kołodziej, S.: Stability of solutions to the complex Monge–Ampère equation on compact Kähler manifolds. *Indiana Univ. Math. J.* **52**, 667–686 (2003)
12. Kołodziej, S.: Hölder continuity of solutions to the complex Monge–Ampère equation with the right hand side in  $L^p$ . The case of compact Kähler manifolds, arXiv:math/0611051v1. *Math. Ann.* (2009, in press)
13. Pliś, Sz.: A counterexample to the regularity of the degenerate complex Monge–Ampère equation. *Ann. Polon. Math.* **86**, 171–175 (2005)
14. Pliś, Sz.: Personal communication (2008)
15. Tian, G.: Canonical metrics in Kähler geometry. Birkhäuser, Basel (2000)
16. Wang, X.-J.: Some counterexamples to the regularity of Monge–Ampère equations. *Proc. Am. Math. Soc.* **123**, 841–845 (1995)
17. Yau, S.-T.: On the Ricci curvature of a compact Kähler manifold and the complex Monge–Ampère equation, I. *Comm. Pure Appl. Math.* **31**, 339–411 (1978)